SLIM-Curvetestingin TRI2
P. Barber, 20/10/2011, Version 2

Testing TRI2 the old NR based libraries against the new SLIM-Curve library converted by LOCI.

TRI2 version 2.5.3.1 FI_port (free image port)
SLIM-Curve (http://dev.loci.wisc.edu/svn/software/trunk/projects/slim-curve, rev. 7794), in version
26.11

** = obvious significant difference found between the methods



Testl: Csarseven.ics

Mono-exp model, Poisson Estimate, Cursors: 0.24 2.30 2.62 8.98 -0.57 0.43, bin 1x1

NR

SLIM-Curve

ﬂ Time Resolved Analysis  [50]

ﬂ Time Resolved Analysis  [64]

Excitation Window Experimental Functions Excitation Window Experimental Functions
Data: [Csarseven Prompt | Excitation: [prompi450.sdt Data: [Csarseven Prompt | Excitation: [prompi450.sdt
Click on image to select pixelto analyse: (69, 48) 68582 Click on image to select pixelto analyse: (9, 48) 68582
X0 X0
S 400E+2- X 2 4.00E+2-
i 200E+2- ¥ i 200E+2-
0 =M 0
Time Resolved Data and Fit: Time Resolved Data and Fit:
390E+1- 390E+1-
A lin ¥ Type of Fit: - Mono-exponential (Marquardt) ~| fin~>
3.50E+1-| 1 3.50E+1-| 1
Fit Funcion: f{t) = . Fit Funcion: f{t) = .
[+ A expiartan) 3.00E+1- . [+ A exp ta) 3.00E+1-
Estimate intial Values Estimate Cursors L 25081 EEEr oI TR EsmelCss) ,, 250E+1-
Prefitestimation  Stopping Criterion  Try Refits If z Pre-fitestimation  Stopping Criterion  Try Refits If =
nitegral Fit Estimate | Very Strict ¥ ChiSq»10 ¥ 2 2.00E+1- nitegral Fit Estimate | Very Strict ¥ ChiSq»10 ¥ 2 2.00E+1-
Noise Madel g i g
I Zfrompre-puise  pojscon Estimate (Fit Based) - Defaut ¥ B 150E+1- I™ Zfrom pre-puise g con Etimate (Fit Based) - Defaut ¥ B 150E+1-
Fitted Parameters: Fitted Parameters:
alues  Freedom Errors 1.00E+1- alues  Freedom Errors T00E+1-
z  Zfpss _| [ra8 z  Zfpss _| [ra8
A 2ese _| [ree Modified Aiz- A “Joes | [ W 5 00E+0-
oo o | (peer il et —— CE T = oo = ————
Fi wia estimatio 00 10 20 30 40 50 60 e —— 00 10 20 30 40 50 60 7.0
Counts in fit [1650 Time [ns] Counts in fit [1650 Time [ns]
Chisg /d. Chisg /d.
1.035297 Difference Between Data and Fit (weighted by 1/sqri(fit)): 1.035297 Difference Between Data and Fit (weighted by 1/sqri(fit)):
#iters: [13 = A35EH0T I ters 13 @ 335E40- —
FresdomKey: Free Restrained [l Eror:fo | 2 gooes0- FreedomKey: Free Restrained [l Eror:fo | 2 gooes0-
Save Values ‘ Save Values - Al \magesl Save Fit | % 2310~ Save Values ‘ Save Values - Al \magesl Save Fit | % 2310~
Pixel Fits | Options | Jiiakeinages Status: [OK _ Pixel Fits v Options | Jiiakelinages Status: [OK _

Intensity (float) 100 A (floaf) 100%

image in 2.9 secs
tau: 1.8920 = 0.2893

Intensity (float) 100 A (floaf) 100%

image in 2.6 secs
tau: 1.8884 + 0.2853

Tau (floaf) 100% Chisq (float) 100%




Test2: Csarseven.ics

Mono-exp model, Maximum likelihood, Cursors: 0.24 2.30 2.62 8.98 -0.57 0.43, bin 1x1

NR

SLIM-Curve

ﬂ Time Resolved Analysis  [50]

ﬂ Time Resolved Analysis  [35]

‘.:. Bl

Excitation Window Experimental Functions Excitation Window Experimental Functions
Data: [Csarseven Prompt | Excitation: [prompi450.sdt Data: [Csarseven Prompt | Excitation: [prompi450.sdt
Click on image to select pixelto analyse: (69, 48) 68582 Click on image to select pixelto analyse: (9, 48) 68582
X0 X0
X S 400E+2- X 2 4.00E+2-
es £ Jes Z
& 2.00E+2- & 2.00E+2-
- di - di
=M 0 =M 0
Time Resolved Data and Fit: Time Resolved Data and Fit:
390E+1- 390E+1-
Type of Fit:  Mono-sxponential (Marquardt) - lin -~ Type of Fit: ~ Mono-exponential (Marquardt) - lin -~
3.50E+1-| 1 3.50E+1-| 1
Fit Funcion: f{t) = . Fit Funcion: f{t) = .
[z+ A expitrtau) 3.00E+1- [+ A exp ta) 3.00E+1-
Estimate intial Values Estimate Cursors L 25081 EEEr oI TR EsmelCss) ,, 250E+1-
Prefitestimation  Stopping Criterion  Try Refits If z Pre-fitestimation  Stopping Criterion  Try Refits If =
nitegral Fit Estimate | Very Strict ¥ ChiSq»10 ¥ 2 2.00E+1- nitegral Fit Estimate | Very Strict ¥ ChiSq»10 ¥ 2 2.00E+1-
floise iodel g floise iodel g
I™ Zfrompre-puise  poiscon (iaximum Likelhood) - B 150E+1- I™ Zfrom pre-puise g con (1aximum Likelhood) - B 150E+1-
Fitted Parameters: Fitted Parameters:
alues  Freedom Errors 1.00E+1- Values  Freedom Errors T00E+1-
z  fas _| oo z  Zom _| o7z
A fpos _| oo Modified Butey 2 A gom _[[lar Modree 5.00E+0-
E e = | | Y P T I A O | o
Fi wia estimatio 00 10 20 30 40 50 60 70 80 90 100 e —— 00 10 20 30 40 50 60 7.0
Counts in fit [1650 Time [ns] Counts in fit [1650 Time [ns]
Chisg /d. Chisg /d.
[1.093834 Difference Between Data and Fit (weighted by 1/sqri(fit)): [1.045068 Difference Between Data and Fit (weighted by 1/sqri(fit)):
#iers: 10 o == a #iers:[12 = 3307 M
FresdomKey: Free Restrained [l ero | 2 gooeso- FreedomKey: Free Restrained [l Eror:fo | 2 gooes0-
Save Values ‘ Save Values - Al \magesl Save Fit | % 233840~ Save Values ‘ Save Values - Al \magesl Save Fit | % 2308+0-
Pixel Fits | Options | Jiiakeinages Status: [OK _ Pixel Fits v Options | Jiiakelinages Status: [OK _
Intensity (float) 100 A (floaf) 100% Tau (floaf) 100% Chisq (float) 100%

image in 32.8 secs
tau: 1.9356 + 0.3466

Intensity (float) 100 A (floaf) 100%

image in 3.6 secs**
tau: 1.9431 + 0.2489

Tau (float) 100% =||| Chisq (float) 100% Z (floaf) 100%




Test3: Csarseven.ics
Bi-exp model, Poisson Estimate, Cursors: 0.24 2.30 2.62 8.98 -0.57 0.43, bin 3x3

NR
all pixelsin mask fit

SLIM-Curve
all pixelsin mask fit

@] Time Resolved Analysis  [50] B X #] Time Resolved Analysis  [35] = =
Excitation Window Experimental Functions Excitation Window Experimental Functions
Data: [Csarseven Prompt / Excitation: [prompt450.sat Data: [Csarseven Prompt / Excitation: [prompt450.sat
Click on image to select pixelto analyse: (69, 48) 68582 ‘ l Click on image to select pixelto analyse: (9, 48) 68582 ‘
e x10 e x10
X S 400E+2- X 2 4.00E+2-
80 = =5 =
& 2.00E+2- ‘ & 2.00E+2-
. I . I
=M 0 =M 0
Time Resolved Data and Fit: Time Resolved Data and Fit:
B.64E+4- B.64E+4-
Type of Fit:  Bi-exponential (Marquardt) hd 8.00E+4- lin¥ Type of Fit:  Bi-exponential (Marquardt) - 8.00E+4- lin >
Fit Function: f(t) = Fit Function: f(t) =
unction: f(ty Sz CEEERD 7.00E+4-
[Z+ AT explt/ tout) » A2 exp(t tau2) [2+ AT explt/ tout) » A2 exp(t tau2)
Estimate inial Values Estimate Cursors. BanEs T o 6.00E+4-
Prefitestimation  Stopping Criterion  Try Refits If £ 500E+4- Pre-fitestimation  Stopping Criterion  Try Refits If £ 500E+4-
nicgral Fi Estimate w|  VeryStrict_¥|  ChiSq=10 ¥ g nicgral Fi Estimate ¥|  VeryStrict_ ¥|  ChiSq=10 % g
bigiss Hipdel 2 =y bigiss Hipdel 2 =y
[ Zwompre-pulse ol E Ctimate (Fit Based) - Defaut v, @ [ Zwompre-pulse ol (T Cimate (Fit Based) - Defaul v @
300E+4- 300E+4-
Fitted Parameters: Fitted Parameters:
Values _ Freedom Erors ooy Values _ Freedom Errors ooy
z  Zfesira _| [rr284 z  Z[rsoase _| Jeozs
A1 Ziessssss | [oo Modified T.00E+4- A1 eo7asos | [e7548 Modified 1.00E+4-
R ™, e Ll ™,
taut Sfisee0 | 3 2 : 000ER - | T o T W - S 20 b 20 G0 b &b b 3
ne e | [ion oo s 00 10 20 30 40 50 60 70 80 90 100 A2 Jrswso | [em | riwioesimc 00 10 20 30 40 50 60 70 80 90 100
R Counts in fit 4381155 Time [ns] R Counts in fit 4381155 Time [ns]
tauz 2f1326-0 R E Chisq./d. ounts in tau2 2[528E-1 _| a2 Chisq.idAf ounts in
188.396606 Difference Between Data and Fit (weighted by 1/sqri(fit)): [1.930981 Difference Between Data and Fit (weighted by 1/sqri(fit)):
o 201E+1- - o S09E+0-
#iters 1o = {-,'r.‘:'_’i'-'\"hv_ #iters 12 = .
=] 2 . 3 e S
Freedom Key: Free Restrained [l CLCH T - P L oy Freedom Key. Free Restrained [FlE CCH O = Y= enats AT
ol W = 3
Save Values ‘ Save Values - All \magesl Save Fit | * 530E+0- b ~ Save Values ‘ Save Values - All \magesl Save Fit | * 28880~ o
Pixel Fits ~  optons | [Niiakeinages siop | Status: [OK _ Pixel Fits ~  optons | [Niiakeinages siop | Status: [OK _
(bad Z estimate has caused bad fit here)**

Intensity (float 100 ([~ AT (oan 100% A2 (floal) 100% Tau (foa) 100%

image in 6.1 secs
taul: 2.0123 + 0.1576
tau2: 1.4066 + 0.1536

If Z is fixed when analysing all pixelsin mask to
the SC value you get a much better fit.

Intensity (float 100 ([~ AT (oan 100% A2 (floal) 100%

image in 4.7 secs
taul: 2.3272 + 0.4082 **
tau2: 0.89132 £ 0.5437 **

These averages depend on many things. Although
the taus are ordered for each pixel before building
the images, if not every pixel isclearly bi-
exponential then some of ‘taul’ may leak into the
tau2 image and vice versa (note the tau2 histogram
above). We really need some analysis to tell which
pixels are clearly bi-exp (like Bayesian model
selection).




Test4: Csarseven.ics
Bi-exp model, Maximum likelihood, Cursors: 0.24 2.30 2.62 8.98 -0.57 0.43, bin 3x3

NR
all pixelsin mask fit

SLIM-Curve
all pixelsin mask fit

@] Time Resolved Analysis  [50] #] Time Resolved Analysis  [35] = =
Excitation Window Experimental Functions Excitation Window Experimental Functions
Data: [Csarseven Prompt / Excitation: [prompt450.sat Data: [Csarseven Prompt / Excitation: [prompt450.sat
Click on image to select pixelto analyse: (9, 48) 885521 l Click on image to select pixelto analyse: (9, 48) 68582
e x10 e x10
X S 400E+2- X = 4.00E+2-
80 = =5 =
& 2.00E+2- ‘ & 2.00E+2-
. I . I
=M 0 =M 0
Time Resolved Data and Fit: Time Resolved Data and Fit:
B.64E+4- B.64E+4-
Type of Fit:  Bi-exponential (Marquardt) - 8.00E+4- e lin > Type of Fit:  Bi-exponential (Marquardt) - 8.00E+4- lin ¥
Fit Function: f(t) = Fit Function: f(t) =
unction: f(ty Sz CEEERD 7.00E+4-
[Z+ AT explt/ tout) » A2 exp(t tau2) [2+ AT explt/ tout) » A2 exp(t tau2)
Estimate il Values Estimate Cursors. BanEs T o 6.00E+4-
Prefitestimation  Stopping Criterion  Try Refits If £ 500E+4- Pre-fitestimation  Stopping Criterion  Try Refits If £ 500E+4-
nicgral Fi Estimate ¥|  VeryStrict_ ¥|  ChiSq=10 % g nicgral Fi Estimate ¥|  VeryStrict_¥|  ChiSq=10 W g
floise iodel g 400E+4- floise iodel 2 400E+4-
" Zwompre-puse ool o haximum Likelihood) - @ [ Zwompre-pulse ool 0 haximum Likelihood) - @
300E+4- 300E+4-
Fitted Parameters: Fitted Parameters:
Values _Freedom Erors ooy Values _ Freedom Erors ooy
z  Zfesira _| oo z  Zfrsoars _| [res2
A1 Ziessssss | [oo Modified T.00E+4- A1 Zewvaszs | [e7as0 Modified 1.00E+4-
ut Irsee | L e L S — tut thueo | [i7iez £ : e e e —— ‘_\—.
w2 frew | = 00 10 20 30 40 50 60 70 80 90 100 A2 Jromees | [ea0e | s esima 00 10 20 30 40 50 60 70 80 90 100
R Counts in fit 4381155 Time [ns] R Counts in fit 4381155 Time [ns]
tauz 2f1326-0 _| Fro0e0 Chisq./d. ounts in tau2 2[528E-1 _| 32 Chisq.idAf ounts in
181268417 Difference Between Data and Fit (weighted by 1/sqri(fit)): 1.926579 Difference Between Data and Fit (weighted by 1/sqri(fit)):
201E+1- - o S09E+0- :
#iters: [10 = o oo, #iters 21 3 | -
FresdomKey: Free Restrained [l B2 k s FreedomKey: Free Restrained [l Eor:fo | 2 (ooeag-
£ I 3
Save Values ‘ Save Values - All \magesl Save it | * 530E+0- ~ Save Values ‘ Save Values - All \magesl Save it | * 28880~
Calculati 4 Calculati 4
Pixel Fits | Options | |Jiiakeinages w o [oR= o5 e _ Pixel Fits v Options | Jiiakelinages w Status: [DK-5.6 5605

(bad Z estimate has caused bad fit here) **

Intensity (float 100 ([~ AT (oan 100% A2 (floal) 100%

Taul (foa) 100% ||ETauz oan 100% J |[_Chisq (foan 100% Z floa) 100%

1a

image in 62.8 secs
taul: 1.9620 + 0.1597
tau2: 1.3080 + 0.1065

Intensity (float 100 ([~ AT (oan 100% A2 (floal) 100% Tau (foa) 100% ||[" Tauz (oa 100% ] |[Chisq (foan 100%

image in 6.7 secs**
taul: 2.5284 + 0.9373
tau2: 0.89030 + 0.5888

Z (floaD 100%




Test5: Csarseven.ics
Global Bi-exp model, Poisson Estimate, Cursors: 0.24 2.30 2.62 8.98 -0.54 0.43, bin 3x3

NR SLIM-Curve

Intensity (float) 100 Al (float) 100% A2 (float) 100% Chisq (float) 100% Z (floaf) 100% Intensity (float) 100 Al (float) 100% AZ (floaf) 100% Chisq (float) 100% Z (floaf) 100%

image in 1.8 secs image in 2.2 secs

This has clearly picked out two distinct taus here
and as aresult the Fractional Intensity images are
better.

Test6: Csarseven.ics
Global Bi-exp model, Maximum likelihood, Cursors: 0.24 2.30 2.62 8.98 -0.54 0.43, bin 3x3

NR SLIM-Curve

Intensity (float) 100 Al (float) 100% A2 (float) 100% Chisq (float) 100% Z (floaf) 100% Intensity (float) 100 Al (float) 100% AZ (floaf) 100% Chisq (float) 100% Z (floaf) 100%

imagein 2.4 secs image in 2.6 secs




Test7: Csarseven.ics
Tri-exp model, Poisson Estimate, Cursors: 0.24 2.30 2.62 8.98 -0.54 0.43, bin 11x11

NR
all pixelsin mask fit

SLIM-Curve
;;\II pixelsin mask fit

ﬂ Time Resolved Analysis  [50]

ﬂ Time Resalved Ana

=]

‘E)((italiun Window Experimental Functions

Excitation Window Experimental Functions

Data: [Csarseven Prompt / Excitation: [prompt450.sat Data: [Csarseven Prompt / Excitation: [prompt450.sat
Click on image to select pixel fo analyse: (69, 43) 885521 Click on image to select pixel fo analyse: (69, 43) 885521
X0 X0
S 400E+2- = 4.00E+2-
& 200E+2- & 200E+2-
0.00E- 0.00E-
Time Resolved Data and Fit: Time Resolved Data and Fit:
8B4E+A— 8B4E+A—
Type of Fit:  Tri-exponential (Marquardt) - 8.00E+4- lin¥ Type of Fit:  Tri-exponential (Marquardt) - 8.00E+4- lin ¥
Fit Function: f(t) = Fit Function: f(t) =
uneton 1) T00E+4- uneton 1 T00E+4-
[Z+ AT explt/tou) » A2 explt] tau2) + A3 exp(et/ taus) [Z+ AT explet/ tou) » A2 explt] tau2) + A3 explet/ taus)
Estimate il Values Estimate Cursors. BanEs T o 6.00E+4-
Prefitestimation  Stopping Criterion  Try Refits If é 5.00E+4-] Pre-fitestimation  Stopping Criterion  Try Refits If é 5.00E+4-
ntcoral FitEstimate | VeryStrict w|  ChiSg=10 W H ntcoral FitEstimate W VeryStrict w|  ChiSg=10 W H
Tgise iodel: Z 4.00E+4- Tgise iodel: Z 4.00E+4-
I Zttompre-puse G o e timate (Fit Based) - Defaut v @ I Zitompre-puse poic Co0E imate (Fit Based) - Default v 2
300E+4- 300E+4-
Fitted Parameters: Fitted Parameters:
Values _Freedom Erors ooy Values _ Freedom Erors ooy
z  Zpestor _| [rras3 z  Zhestor _| ooz
A1 Zeeresar | [100 Wodified .} T.00E+4- A1 eerrite | [1o0 Wodified ) 1.00E+4-
taut spisew | e FESET T S, = taut spisew | [resEn FESET T S, =
n Jmee | — 00 10 20 30 40 50 60 70 80 90 100 ne e | [ oo s 00 10 20 30 40 50 60 70 80 90 100
o Counts in fit [4381155 Time [ns] R Counts in fit [4381155 Time [ns]
2 Sfiees | [LA81  chisqad ounts in tu2 Sfies | o0 cnisqrad ounts in
a3 fiaesis || [seres | [1915533 Difference Between Data and Fit (weighted by 1/sqrt(fit)): a3 fiazesos | [pezes  [191%528 Difference Between Data and Fit (weighted by 1/sqrt(fit)):
5.16E+0- 5.16E+0- :
taud ofsE1E1 _| [asee2 #iers:[z2 z - | taud ofs61E1 _ | [raee2 #iers:f2 2 - g
FresdomKey: Froe Restrained [l ) ol | 2 g0 FresdomKey: Froe Restrained [l ) ol | 2 g0
SeveVaes | SoveVaues-Alimages | savern || -200E-0- SeveVaes | SeveVaues-Alimages | savert || 2000~
Calculating.. done. Calculating.. done.
Global Fit | _optens | keS| pm— e | Stotus:[OK-24secs oo | [ | _optens | |ikeieseel| pm— Se| Stotus:[OK-27 secs s |

Datais not really tri-exp so to continue is kind of meaningless.




Test8: Csarseven.ics
Tri-exp model, Maximum likelihood, Cursors: 0.24 2.30 2.62 8.98 -0.54 0.43, bin 3x3

NR
all pixelsin mask fit

SLIM-Curve
all pixelsin mask fit

ﬂ Time Resolved Analysis  [50]

e —
ﬂ Time Resolved Anal

=]

‘E)((italiun Window Experimental Functions

Excitation Window Experimental Functions
Data: [Csarseven Prompt / Excitation: [prompt450.sat Data: [Csarseven Prompt / Excitation: [prompt450.sat
Click on image to select pixel fo analyse: (69, 43) 885521 Click on image to select pixel fo analyse: (69, 43) 885521
X0 X0
S 400E+2- = 4.00E+2-
& 200E+2- & 200E+2-
0.00E- 0.00E-
Time Resolved Data and Fit: Time Resolved Data and Fit:
B.64E+4- 8B4E+A—
Type of Fit:  Tri-exponential (Marquardt) - 8.00E+4- lin¥ Type of Fit:  Tri-exponential (Marquardt) - 8.00E+4- lin >
Fit Function: f(t) = Fit Function: f(t) =
uneton 1) T00E+4- uneton 1 T00E+4-
[Z+ AT explt/tou) » A2 explt] tau2) + A3 exp(et/ taus) [Z+ AT explet/ tou) » A2 explt] tau2) + A3 explet/ taus)
Estimate il Values Estimate Cursors. BanEs T o 6.00E+4-
Prefitestimation  Stopping Criterion  Try Refits If é 5.00E+4-] Pre-fitestimation  Stopping Criterion  Try Refits If é 5.00E+4-
nicgral Fi Estimate ¥|  VeryStrict_ ¥|  ChiSq=10 % g nicgral Fi Estimate ¥|  VeryStrict_¥|  ChiSq=10 W g
floise iodel g 400E+4- floise iodel 2 400E+4-
™ Z frompre-puise oo (Maximum Likelihood) = 2 ™ Z frompre-puise oo asimum Likehood) | 2
300E+4- 300E+4-
Fitted Parameters: Fitted Parameters:
alues  Freedom Errors alues  Freedom Errors
2.00E+4- 200E+4-
z  Zfesira _| oo z  Zfresoes _| oo
A1 Zerosns2 | [1o0 Wodified .} T.00E+4- A1 Zesazess | [100 Wodified ) 1.00E+4-
P o e || e e o S W EEED ey 0O0ER-==—=—t T
a2 wwrs | o 00 10 20 30 40 50 60 70 80 90 100 ne e | [ oo s 00 10 20 30 40 50 60 70 80 90 100
o Counts in fit [4381155 Time [ns] R Counts in fit [4381155 Time [ns]
tuz Sfraz0 | FIO0E  chisq o ounts in tuz S | FIO0E  chisqrad ounts in
a3z 2fussres | [ioo | [ms7ssess Difference Between Data and Fit (weighted by 1/sart(fit): a3 fmss | fron [reioess Difference Between Data and Fit (weighted by 1/sart(fit):
234E+1- 5.16E+0- :
taud of5.seE | Fooes0 #iters: [0 2 taud ofs61E1 _| [ra%e2 #ters:[is 2 - g
FresdomKey: Froe Restrained [l ) el | 2 FresdomKey: Froe Restrained [l ) ol | 2 g0
SeveVaes | SoveVaues-Alimages | savert || -272E-0- SeveVaes | SeveVaues-Alimages | savert || 2000~
Calculating.. done. Calculating.. done.
Global Fit | _optens | keS| pm— e | Stotus:[OK-24secs oo | [ | _optens | |ikeieseel| pm— Se| Stotus:[OK-27 secs s |

Bad Z estimate again lets it down. **

Datais not really tri-exp so to continue is kind of meaningless.




Test9: Simulated Mono-exp, n =700 photons, tau = 2.00 ns

Poisson estimate, estimated cursors (tau average taken from 0-5 ns data)

NR

SLIM-Curve

tau: 2.0585 * 0.4582

Chisq (floa) 200%

Chisq (floa) 200%

tau: 2.0450 + 0.3964

Tau (foat) 200%

tau: 2.0472 + 0.2134

Test10: Simulated Tri-exp, n = 20,000 photons, taus = 0.5, 1.5, 2.0

ns

Tri-exp model, Poisson estimate

NR
all pixelsin mask fit

ﬂ Time Resolved Analysis  [91]

SLIM-Curve
all pixelsin mask fit

Time Resolved

Excitation Window Experimental Functions Excitation Window Experimental Functions
Data: [imageStackTri Prompt / Excitation: [imageExcitation ics Data: [imageStackTri Prompt / Excitation: [imageExcitation ics
Click on image to select pixel to analyse:  (53,27) ‘“‘E‘3" o0 Click onimage to select pixel to analyse: ~ (21,20) ‘“‘E‘3" o0
X o i = 7.50E+2-" X < = 7.50E+2-"
2fes B 5.00E-2- T 5.00E-2-
v i 2 50E+2- i 2 50E+2-
=l 0 0.
Time Resolved Data and Fit: Time Resolved Data and Fit:
= 217E+6- 217E+6-
Type of Fit:  Tri-exponential (Marquardt) - 2 00E+5- lin¥ Tri-exponential (Marquardt) - 2 00E+5- lin >
Fit Function: f(t} = 1.80E+6- ' Fit Function: f(t) = 1.80E+6-
[z+ A1 expt-t /taut) + A2 exp(-t/ tau2) ~ A3 exp(- / tau3) 1 60E+6- [z+ A1 expt-t/taut) + A2 exp(-t/ tau2) + A3 exp(- / tau3) QETEe
Estimate infial Values Estimate Cursars. L 140E-6- | EEror TR EsmelCss) , 140E+5-
Pre-itestimation  Stopping Criterion  Try Refits If z Pre-fitestimation  Stopping Criterion  Try Refits if iz
nicgral Fi Estimate ¥|  VeryStrict_ ¥|  ChiSq=10 % g 1208+6- nicgral Fi Estimate ¥|  VeryStrict_¥|  ChiSq=10 W g 1208+6-
= floise iodel & 10085~ = MNoise Model Z 100E+5-
Z from pre-pulse: " 2 Z from pre-pulse: " 2
Foisson Estimate (Fit Based) - Default ¥ @ g goess. Foisson Estimate (Fit Based) - Default ¥ @ g goess.
Fitted Parameters: rl Fitted Parameters: rl
ues  Freedom Errors Gz Valu Freedom Erors Gz
z e | [ress 400E+5- z  Jererss | [essao 4.00E+5-
a1 iwsaes | [100 Modified 2.00E+5- A1 Afirass217s | [sa1s18.41 Modified 200E+5-
taut 2f=eE-0 _| [Frooe-0 48563+ ! ] | | | | 7 ~ — taut 2f1eE-0 _| [p2eez 4.35E+3 -——, . " y ' ' b —
n fwme |[w 00 10 20 30 40 50 60 70 80 90 100 n2 fwwon | [t rewios 00 10 20 30 40 50 60 70 80 90 100
3 Gounts in it 376022 Time [ns] 3 Gounts mit[TETe022 Time [ns]
w2 fizes | faea Chisa 141 ounts in wuz izEs | foeed Chisa 141 ounts in
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